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HET A

T ArEar HR ghgaen

SR 9o (W) fFrafafea § @ fea 2w #
foa 2 2

(a) BN

(b) TH ;

(c) §gw 3T 3fita (F.u.3.)

@ =

AT 2011 % 9ER, fefafea § @ e
AT I I GREHE (2001 - 11) IG R
AR

(a) TSTEIH

(b) STEUTA FoH

(c) Eaﬂ

(d) emet 3R TR gl

gt 1w get 1% Wy gafaa e ek
giedi & Hi= fou v $e &1y = ad W
e

g1 g
(7@ @) (27)
A. HHIE Yad 1. seefl
B. U gdd 2. W&\
c. aNfE v&q 3. SifeEn
D. fiew gda 4. TA
%< :
A B C D
(@) 3 4 1 2
(b): 3 1 4 2
() e 1 4 3
d 2 4 1 3

4.

(2-A)

2w faft Sva fafafies 4 @ 62 stem s
&3

(a) wﬁﬁmﬁtﬁwﬁaﬁaﬁw

() Tafea sream i figer steam

(¢) R Fepem 3R fofes sream

(@) Tafea sremam 3t Iz fFEr

amyyur & geat @ & for Frafafea & & e
uTg ! vl o |1y e fomar smar 2 2

(a) TS

(b) 3IH

(c) Ugfufvam

(d) d=

fFrafafea 4 @ fog oe 4, wRa & =
=t = fufaeiy fean & wra & d@fqum %
ITede 356 % e ugdfd wEa 1 IgENOn
1T ATdAre & A & 2

(a) T.%. MYEH S T TS

(b) TH.IIR. §1HE 3R 3= AW WRA 99
(¢) HIYE TG A WRA 99

(@ vaEdi. T S YRd 99

S 5 Fa 9w 2, doeg faem e o

Frafafea 9 @ foras Ty yriw gsm an 2

(a) 1945 § TH.WH. T g0 R i T A
a1 (fruew i)

(b) 1944 § IA.AXE. @ 3R A= g R
1 T S T (S )

(¢) 1944 ¥ TH.UH. 3 gRI IR H T8
TidfaTdl FreET

(d 1951 H TaTEeld &% g Sed g=aNig
BIEE]



PART A

GENERAL ABILITY AND INTELLIGENCE

1. In which one of the following countries is
Chabahar Port located ?
(a) Afghanistan
(b) Turkey .
() UAE
(d) Iran
2.  Which one of the following has recorded the
highest decadal (2001 -11) growth rate of
population as per Census 2011 ?
(a) Rajasthan
(b) Arunachal Pradesh
(¢) Puducherry
(d) Dadra and Nagar Haveli
3.  Match List I with List IT and select the correct
answer using the code given below the Lists :
List I List IT
(Mountain range) (Country)
A. Caucasus Mountains 1. Italy
B. Carpathian Mountains 2. Greece
C. Apennine Mountains 3. Georgia
D. Pindus Mountains 4. Ukraine
Code :
A B C D
(a) 3 4 1 2
(b) 3 1 4 2
(&)L 02 1 4 3
(d)y 2 4 1 3
KLFG-U-VBY

4.

6.

7'

(3-A)

Which one of the following are separated by
Ten Degree channel ?

(a) Car Nicobar and Little Nicobar

(b) Little Andaman and Middle Andaman |
(¢) Car Nicobar and Little Andaman

(d) Little Andaman and Great Nicobar

Which one of the following metals is
mixed with gold to provide strength to the
jewellery ? ¢

(a) Manganese

(b) Mica

(¢) Aluminium

(d) - Copper

In which one of the following cases did the
Supreme Court of India adjudge that the
proclamation of the President’s Rule under
Article 356 of the Constitution of India is
subject to judicial review ?

(a) AXK. Gopalan vs. State of Madras

(b) S.R. Bommai and Others vs. Union of
India

(c) Madhav Rao vs. Union of India

. (d) S.P. Gupta vs. Union of India

The era of planned development is said to
have begun with which of the following ?

(a)  The People’s Plan prepared by M.N. Roy
in 1945

(b) The Bombay Plan prepared by
J.R.D. Tata and Others in 1944

(¢) The Gandhian Plan prepared by
S.N. Agarwal in 1944

(d) Five-Year Plan presented by Jawaharlal
Nehru in 1951
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fr=fafaa § @ wra & fFafes s & s

o o1 WS 78T & ?

(a) TEe 3 T faumses &1 fafA
FEHT

(b) el e it Fratess Tt $91 H@ &
F1E 1 gHaE HEn, Few g ot e
ST

¢ Usufa 3R Ivawefs & 9@ fog
fat== @

(d) TaTfereRt anfe S8 T el & fou
ot s

‘i gar’ aetas frafafiaa & @ fm weamett @
gafa 2, foad s & e W@ afwey &
feufa = gutar T 8 2

(a) Wﬁaﬁ
(b) & wifd
(c) Wa 1 fawrem
@ s fagre

10. dveq ahfy R (1993) Frfefaa § @ fra

& 9 gefta 2 2
(a) gferd gan
(b) fraf=m gur
(c) =R gaw
(d) SR YR

11. fuweR sidem fFefafes & & e g2 =
Heiferd B ?

(a) SASAET & 3 BT

(b) a1 i anforfre ers

(c) aferdl W =T

(d) FIH 5 AHR

s

12,

13.

14.

15-

A)

frafafas 4 @ frm srfufem & g wa &
TR ST i aitwg # faft wew & aftrfea
fomar mar 2

(a) IAfem W2, 1773
(b) foew 3femn Uwe, 1784
(c) T UF, 1833

(d) =TT UFe, 1813

i # wiefsh i gom s gt safeufd
frafafea & & form waed &8 oft 2

(a) 93, 1908
(b) &R, 1916

(c) ¥4, 1915
@) feeett, 1915

e, 1938 § I UHH. F R W
TSR & @y B F@T T AE off 2

(a) Hfier RN
(b) ITGEHA™
(¢) VAR 48&

(d) @ 3Hegd TFHR TH

g WA SRl AfufEm we qia g3 ?
(a) 1858
(b) 1861
(c) 1881

(d) 1905



8. Which of the following is not among
the functions of the Election Commission of
India ?

(a) To conduct elections to the Parliament
and State Legislatures

(b) To supervise, direct and control the
preparations of the electoral rolls in a
State

(¢) To conduct elections to the offices of the
President and the Vice-President

(d) To conduct elections to local bodies like
municipalities etc.

9. ‘Garam Hawa’, a movie that depicts the
hardship and indecision of the protagonist, is
related to which one of the following events ?
(a) The Sepoy Mutiny
(b) The Indigo Rebellion
(c) The Partition of India
(d) The Paika Rebellion

10. The Vohra Committee Réport (1993) was
related to which one of the following areas ?
(a) Police Reforms
(b) Electoral Reforms
(¢) Judicial Reforms
(d) Market Reforms

11. The Chipko Movement is related to which one
of the following issues ?

(a) Land rights of tribals

(b) Commercial logging

(¢)  Atrocities against Dalits -

(d) Rights of farmers
KLFG-U-VBY

12.’

13.

14.

15.

(5-A)

(b)

Which one of the following Acts added a Law
member to the Governor General’s Council in
India ?

(a) The Regulating Act of 1773
The Pitts India Act of 1784
(¢) The Charter Act of 1833

(d) The Charter Act of 1813

Gandhiji’s first major public appearance in
India happened in which one of the following
cities ?

(a) Bombay, 1908
(b) Banaras, 1916
(c) Surat, 1915

(d) Delhi, 1915

Who did net accompany Gandhiji during his
visit to the NWFP in October, 1938 ?

(a) Sushila Nayar
(b) Aﬁ1tus Salam

(¢) Jawaharlal Nehru

(d) Khan Abdul Ghaffar Khan

The first Indian Factories Act was passed in :

(a) 1858
(b) 1861
() 1881
(d) 1905



16.

1

18.

19.
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St e’ fefafaa & @ fFa sifafam
) I fadwar (Reifim $iew) 2 2

(a) TEAHE 3% $feAn W, 1919

(b) TEHE 3T 3fEA v, 1935

(0 e, 1919

(@) 3femm FEfiew tae, 1892

1905 § T TR $ IRH F GHI B
Ty wrfeca gftwe & dshedl & 2

(a) TeigAY &M
(b) THzEE BEdt
(c) Iy =g g@Sil
(@) T gag Afeas

& 150 Hiet Tel 37 U Hid-geer Hl 10 HHUS
T U = ¢ | wE T (TfE) ¥ 9a @
gall 39 3@ Hia-ger HI 12 ¥Hg d UL HTA
? | gEd 39 &t ward feaft @ 2

(a) 180m

(b) 120m

(¢c) 200m

(d) 100m

F Hi 39 9 s=ii A, B 3R C I HAW:
3:4:5% U § Je-@d ufyt &l B | TWH
e, far w&i% &= ® T 40 2O B |
RumEEd 319 A, B 3R C I Sewd ufe &
FAIT SHAE: 5 : 6 : 7 & W1 & | C I 3Gh!
i @ foreft Tft firedt 2

(a)’ &80

(b) ¥ 100

(e} - 120

d 60

20.

21.

22.

23.

(6-A)

Ife freft Fatfied (A =) § 1 sFad
! GaR 2, 9 39 a9 31 feder i fr=fafaa
H | -5 91 B ?

(a) HHar

(b) HITEER

(c) faar

(@) I94E § A HIE T

U MR AT WHH R 10% 1 2 a1 B |
fpet o & sifeha $wa ¢ 280 B | W

HWH B A9 T HHGR 26% ATH HAfofd
2 | 38 gmE i AT HHG 1R 2

(a) T 260

(b) T 240

() T 200

d ¥ 180

Teh THMGR 5% 1 &M BN 5% 6 AW H wgeH

¥ foru u gwE $ Hwa B T 500 TG A

2 | 39 WH 6 ArTg Hmd =R 2
(a) ¥ 1,000

(b) T 5,000

(¢ ¥ 10,000

@ ¥ 1,200

5 3 geratl  Ahet & @ B I IR F
it # Srer S 8, @ @@ 416 T Bt @ |
qree % a1 3 A F @it F ff" F AR
3842 | 4 G B § ?

(a) 183N 24

(b) 12316

(¢) 8312

(@ 10312



16. ‘Provincial Autonomy’ was the most
redeeming feature of which one of the
following Acts ?

(a) The Government of India Act, 1919
(b)  The Government of India Act, 1935
(¢) The Rowlatt Act, 1919

(d) The Indian Councils Act, 1892

17. At the beginning of the Swadeshi Movement
in 1905, who was the Secretary of the Bangiya
Sahitya Parishad ?

(a) Rabindranath Tagore

(b) Ramendrasundar Trivedi
(c)  Satish Chandra Mukherjee
(d) Raja Subodh Mullick

18. A train of 150 m length crosses a milestone in
10 seconds. Another train with the same
speed crosses the milestone in 12 seconds.
What is the length of the second train ?

(a) 180m
(b) 120m
() 200m
(d 100 m

19. A mother gives pocket money to her three
children A, B and C in the ratio 3 : 4 : 5
respectively. Then the father gives ¥ 40 to
each child. As a result, the pocket money of
A, B and C now has the ratio 5:6:7
respectively. How much does C get from her
mother ?

(a) T 80
(b) ¥ 100
€ ¥ 120
(d T 60
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20.

21.

22.

23.

A)

If the 1% of January of a non-leap year is a
Monday, then which one of the following days
will the 31% of December of that year be ?

(a) Monday

(b) Tuesday

(c) Sunday

(d) None of the above

A shopkeeper gives a discount of 10% on his
items. ¥ 280 is the marked price of an item.
On selling this item, the shopkeeper earns a
profit of 26%. What is the cost price of the
item ?

(a) ¥ 260
(b) T 240
() ¥ 200
(d) ¥ 180

In order to convert a loss of 5% to a profit of
5%, a shopkeeper raises the price of an item
by ¥ 500. What is the cost price of the item ?

(a) ¥ 1,000
(b) ¥ 5,000
() ¥ 10,000
(d < 1,200

When the square of the sum of two numbers
are added to the square of their difference, we
get 416. The difference between the square of
the sum and square of the difference is 384.
What are the numbers ?

(a) 18and 24
(b) 12and 16
(¢) 8and12

(d 10and 12



24,

25.

26.

27.
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ool 3R 3 Uy qmiE % svwed | fffa

el % A9 UeH F F Fad 8, foEd ger H

sdtar # gfg At 2
(a) wFH

(b) F98 7

(c) B-EE (B-ENIZH)
(d) @isfives

frafafea § @ Rl gzt & Sfier-mems bea
(SATEH-AIIET FIH) % F9 | AT AT 8 2

(a) uritfeufas a3
(b) Sawsw

(c) dgHSH
(d) fam (smm)

s U gal (e 3 @id), &, @,
$iz 3 Trarees! H8 fafqy memi @ S god
2 | Prafafie § @ fom I &1 95 TEES
(IFR) 7T 2 2 :

(a) TgH

(b)) Hef@n

(c) gTL
(d) e

a9 et e = Frafafea 8 & fea sfia-srma
(frrem) & @, St gehgeh!, Tg-HINTAA 3R
STTHTI-HIANT 2 ?

(a) Wfewn

(b) HHU

(c) Ha%H (FT)

(d) vfmfern

28,

29.

30.

(8-A)

PR § 3 R SR ST (@

Ffiaer) o fereeft i wa 787 et 2 2
(a) TEIHE (ATZEEN)

(b) TEEEH
(© 5H

(d) Tiiestl 39

qrfaes gAa 3 g gaia (e 9ue) &
= fopaaT amaTaR 2T 8 2

(a) o 3T fire
(b) T T e
(c) T g fie

(d) e e e

frfafiga # & f5g Ge@ WA (WEE %
ict)’ HEd 8 ?

(a) 39 9oHl %I had WHITdS T8 2

b) T v, & Rl 3w A fel % R

HTE ST ST 8
(¢c) TH UTH, J&l I 99 wEaH & fog @R
2reld &

@ 0 T I e A S v @ dag
3 | |



24,

26.

| (a) AIDS
(b) Malaria
(¢) Dengue
(d) Zika
27. In which one of the following kingdoms, would
you place an organism which is eukaryotic,
multi-cellular and non-photosynthetic ?
(a) Protista
(b) Monera
(¢) Fungi
(d) Animalia
KLFG-U-VBY (9-

The organic component of soil, formed by the
decomposition of leaves and other plant
materials that adds to the fertility of the soil
is called :

(a) Humus.

(b) Top soil.

(¢) B-horizon.

(d) Mineralization.

Which one of the following is known as the
life-supporting zone of the Earth ?

(a) Ecosystem
(b) Biosphere
lfc) Atmosphere
(d) Biome

Infectious diseases can spread through
various means, such as air (sneezes and
coughs), water, food, insects and  vectors.
Which one of the following diseases does not
have a vector ? .

28.

A)

Which one of the following cell organelles is

not lined by membrane ?

(a) Lysosome *

(b) Ribosome
(c) Nucleus

(d) Golgi Apparatus

What is the time difference between the

actual sunset and apparent sunset ?
(a)  About half a minute
(b) About one minute

(c)  About two minutes

(d)  About twenty minutes

Which of the following are called the ‘Ports of
Call’? )

These
importance

(a) ports have only strategic

(b) Ports where goods are brought for

export from different countries

(¢c) Ports where ships used to anchor for
refuelling

(d) Ports which are exclusively concerned

with transportation of passengers



31.

32.

33.

35.

KLFG-U-VBY

ﬁﬂﬁf\@aﬁﬁﬁ?ﬂ%ﬂﬁ@ﬁ?{wi@ﬂﬁﬁﬁ
29

(a) wiferfemn

(b) ShcHaHT

(c) fomamsa

(d Iod

Frafoafiga & & SR 7€ 9@ Fraen sae
g R

(a) @H

(b) FAAHA

(c) =&

(d) FgAT

frafafgs & @ s 3¢ fSgd o § 3
Bl T&d B 2

(a) Treft

(b) we™

(c) =IH

(@) Hags

m%mﬁn%mﬁﬁ%amﬁ
i 78t @ B 2

(a) ¥RES

(b) fegr

(c) 3MfEam

(d) deTHET

T e faafafes & @ feg @3 @
Teiftr 8 2

(a) &l v=al &1 TS

(b) HGI=T TeY

(e) ﬁﬁ%ﬂgﬂﬂ

@) = =T ¥ = Erde i frafe

wHdA Wi ot wiufa & seaw i fgle w9
A& ?

(a) T GUT % A

(b) TS YT & U9

(c) WRd % Tl

(d) 1% GHT § 9gAT I I AT

37. gl I = 0 F @y gafa Hifse sk

38.

39.

40.

(10-A)

gt % = for T Fe w1 v W wd Iw
gfiu .
g1 gl
A. Gl wifd 1. Sifsl wAtfed
B. Tt gered 2. 9 TR TR
C. & I 3. sfew wish
D. 4 gsa 4. F9AT A BN
%<
A B C D
(a) -2 4 3 1
). 2 3 4 1
fc) 1 3 4 2
@ 1 4 3 2
Frafaflga & a fras day ‘wofent =
goERl % fRagia | 2 2

(a) I=G9 A, I= AT AR e
T

(b) <R AW, TST BT 3R U=y faum-v=a

(c) Taunfimmr, swrfurfere ait =maafer

(d) Trsgafa, wom weft 3ft =i

Fefafed & @ s w9 Tdw wEe

AR AT F ey § wd 777 2 2

(a) 8 Tt wnfosmr ft @dom @ sl =
gl & |

(b) I& HRA TLHR I e B |

(c) W& Tashdlel Fedl dfed el off amet =1
AR T Tehal 8 W JHe AR
I A fqeA gea g |

(d) I8 "Ha Iyl ¥ FEfta JEwd w50
THR AT & |

frafafas 3§ & frae ey ‘R -t
qg?

(a) wre-foarg wfaeyg

(b) wHiferft Yoy (=1 yoreean)

(c) ufgenati 1 Hriere © Afies Ieften
(d) &S ufewy
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31. Tropic of Capricorn passes through which one
of the following countries ?
(a) Bolivia
(b) Botswana
(¢) Zimbabwe
(d) Uruguay
32, Which one of the following river valleys is
associated with the production of coal ?
(a) Sone
(b) Alaknanda
(¢c) Chambal
(d) Yamuna
33. Which one of the following rivers flows
through the Shipki La Pass ?
(a) Ravi
(b)  Jhelum
(¢) Beas
(d) Satluj
34. Which one of the following States does not
make boundary with Chhattisgarh ?
(a) Jharkhand
(b) Bihar
(¢) Odisha
(d) Telangana
35. The Sarkaria Commission relates to which
one of the following areas ?
(a) Constitution of Urban Panchayats
(b) Centre-State relations
(c)  Electoral reforms
(d) Appointment of judges to High Courts
36. Who appoints the Chairperson of the Public
Accounts Committee of the Parliament ?
(a) Speaker, Lok Sabha
(b) Chairman, Rajya Sabha
(c) President of India
(d) Leader of the majority party in the Lok
Sabha
KLFG-U-VBY

37.

(11-A)

Match List I with List IT and select the correct
answer using the code given below the Lists :

List I List IT

A. Total Revolution 1. George
Fernandes

B. Garibi Hatao 2. Jaya Prakash
Narayan

C. Shah Commission 3. Indira Gandhi

D. Railway Strike 4. Janata Party
Government

Code :

A B C D

(a) 2 4 3 1

(b) 2 3 4 1

@ . 1 3 4 | 2

(d): 4 3 2

Which one of the following is related with the
doctrine of ‘Separation of Powers’ ?

(a) Supreme Court, High Courts and
District Courts .

(b) Lok Sabha, Rajya Sabha and State
Legislatures

(¢c) Legislature, Executive and Judiciary

(d) President, Prime Minister and Judges

Which one of the following statements is not
true in regard to the National Human Rights
Commission ? :
(a) It can inquire suo motu on a petition.

(b) It is a body of the Government of India.

(c) It can review any matter including acts
of terrorism that inhibit the enjoyment
of Human Rights.

(d) It spreads Human Rights literacy.

Which one of the following is related to the
“Vishakha Guidelines’ ? '

(a) Prohibition of child marriage

(b) Female foeticide

(¢) Sexual harassment of women at
workplace

(d) Prohibition of dowry
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41, R H G b @HE geaiE sH gl

Hfufram form ad srfufafia e mn 2
(a) 1955
(b) 1956
() 1961
d 1975

. fafewr e & ofm wa w1 vBen aETE

Frafafes & @ <= a1 2
(a) Fﬁé@ﬁ@iﬁ
(b) WS HiHaTerd
(c) TeremmEe &fam
(d) I 3ATH qAq

. 1869 # TF T8 & @ieid a1 fava srefegewen
% WY 39 Ty & «rg, ffafaa § & g
AT & B ‘YRT FT IIH & (e W7
37 §f3w)’ % w9 ¥ fafga o mn 2

(a) wag

(b) HgHE

_(c) Hefehdl

@ g

. Hasul § Tfdd wiett wffd (1817) w1 g

v ffefad 3 &+ o 2
(a) o9 dAreiEl #i fafafia s
(b) &= wdff % forw @iedt fFepremn
(¢) TR ST =M1

(d) HEHI T I W T U ST

. Frefafes # @ s 9 aife G 77

o1 ?
(a) Hﬁﬁﬂﬂ
(b) HMTTH

(c) HoqE
(d) 914

46.

47.

49.

50.

(12-A)

T el o9 oo o, fafafea § & e
firhl (FICCT) Sfaffa-rea =1 Agea foram an 2
(a) IR e

(b) Enft Tt

(0 .U &S

(d) 2. feran R IgE™

frafafga & @ fsea ad 1928 # wfsa wrd
Ty gfufa (3feam Reg #md) i sremgar f
ot 2

(a) ﬁ?ﬁﬁlﬁﬁ?@'\

(b) I EREHIE FTTH

(c) ¥ HUAT

(d w.u

Ife 9ig AT TH e H1 IHA, YU9
gie gaqf TEnsti & UAwE % SUST 8, al
fFrafafas & @ |9 g, 39 a9 gens
1 ggam arft 2

(a) 30

(b) 24

(e) 26

d 28

30 faenféfnt & e e #, ys faaneff 3 &
3R ISh -2 fowdi § @ wudHH wH H
woq T 2 | 3 | ane faenfiai 3 & ek
arsy faenfiai 3 ssh =1 =99 oo 2 | Faw
IS w1 T wE g AR i GEn
foradt 2 2
(a) .22
(b) 18
{e)" “22
@ 8

3,6,9, 12, ... 209 g d% =l TEIIAT HT ATHA
1 81 2

(a) 600

(b) 1260
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41. The Act to make daughters an equal co-heir
with the sons was enacted in :
(a) 1955
(b) 1956
(c) 1961
(d) 1975
42, Who among the following was the first
Viceroy of India under British Rule ?
(a) Lord Dalhousie
(b) Lord Cornwallis
(¢) Viscount Canning
(d) Earl of Mayo
43. Which one of the following Indian cities was
labelled as ‘Urbs Prima in Indis’ after the
opening of the Suez Canal in 1869 and its
links with the world economy ?
(a) Bombay
(b) Madras
(¢) Calcutta
(d) Surat
44, Which one of the following was the main
purpose of the Lottery Committee (1817)
formed in Calcutta ?
(a) Regulating Club Lotteries
(b) Drawing lots for military recruitment
(¢) Organizing town planning
(d) Checking street gambling
45. Which one of the following was not a Shaiva
tantric sect ?
(a) Sahajiyas
(b) Kapalikas
(¢) Kalamukhas
(d) Nathas
KLFG-U-VBY

47.

49.

(A3-3A)

At the Second Round Table Conference,
who among the following led the FICCI
delegation ?

(a) J.R.D.Tata

(b) Homi Mody

(¢) J.L.Bajaj

(d) G.D. Birla and Thakurdas

Who among the following headed the Indian
States Committee formed in the year 1928 ?

(a) Motilal Nehru

(b) Sir Harcourt Butler
(¢) Ian Copland

(d) M.A. Jinnah

If the sum of five consecutive even numbers is
equal to the product of first five natural
numbers, then which one of the following is
the largest of those even numbers ?

(a) 30

(b) 24
(e) 26
(d) 28

In a group of 30 students, each student has
opted for at least one of the two subjects,
Hindi and English. Twelve of them have opted
for Hindi and twenty-two have opted for
English. The number of students who have

opted for only English is :
(a) 22

(b)y 18

(e) 12

(d 8

The sum of the numbers 3, 6, 9, 12, ... up to
the 20™ term is :

(a) 600
(b) 1260
() 630
(d 960



51.

52.

53.

55.

KLFG-U-VBY

2 em = 9@ 3w aifes MR+ Rgemn
ST R 3R w9 H wgen W@ R | w9 g
o fohaes st Bnft 2

(a) 24cm

(b) 2:8cm

() 32em

(d) 86cm

AW BRI TSI ® | W 1299 F e, ‘B
I AY A AY W g AR | AR e
Iy forat R 2

(a) 10 9§

(b) 1294

(¢ 30ad

(d 16T

A i, A’ feft w10 A § quow
Al & 91 ‘A’ 3R B’ g1 frere 3w
6 a7 & qu &t wha & | B ot 3@ HHE H
fope &7 o qu o wehar R 2

@ 15f@

b 12f@F

¢ 18f

@ 20f@

fopm aftge & Frw gAiey @ gaia & w9

HHW H 1 Ao R gF whw (ae) B

22

(a) RIS 1 aREqur (feaastq)

(b) W™ H Wadd (Rrsem) 3R smada
(Fherer)

{c) Vb1 T fqueH (vayM)

(d) WehTT 1 Wehrole (Ehefi)
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(a) 955

(b) 905

(¢ 995

(d 755



51.

52.

A solid metallic sphere of 2cm radius is
melted and converted to a cube. The side of
the cube is approximately equal to :

(a) 24cm
(b) 2-8cm
(c) 82cm
(d 36cm

‘B’ is 28 years older than ‘A’. After 12 years
from now, the age of ‘B’ will be twice the age
of ‘A’. The present age of ‘A’ is : :

(a) 10 years
(b) 12 years
(c) 30 years
(d) 16 years

Suppose, ‘A’ can complete a job in 10 days,
and ‘A’ and ‘B’ together can complete the same
job in 6 days. In how many days can ‘B’ alone
complete the job ?

(a) 15days
(b) 12days
(c) 18 days
(d)

20 days

The blue colour of the sky and the reddening
of the Sun at sunrise and sunset are caused
due to the phenomenon of :

(a) dispersion of light.
(b) reflection and refraction of light.
(c) aberration of light.
(d) scattering of light.
55. Which one of the following materials cannot
be used to make a lens ?
(a) Water
(b) Glass
(c) Plastic
(d) Clay
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517.

58.

59.

(15-A)

Dioptre is the SI unit of :

(a) size of the lens.

(b) curvature of the lens.

(¢) power of the lens.

(d) magnification produced by a lens.
The image formed by a plane mirror is :

(a)
(b)

always virtual and erect.

always virtual but erect or inverted
depends upon the size of the object.

(¢) never virtual but always erect.

(d) always real and erect.

Dyes in black ink can be separated by :

(a) evaporation.

(b) centrifugation.
(¢c) sublimation.

(d) chromatography.

The main constituents of atmospheric air
are Oxygen (Oy) and Nitrogen (Ny). The
composition of Oy and Ny is approximately :

(a) 29% and T0% respectively.
(b) 19% and 80% respectively.
(¢) 21% and 78% respectively.
(d) 23% and 76% respectively.

Which one of the following is the largest
3-digit number which when divided by 12, 15
and 18 respectively, gives a remainder 5 in
each case ?

(a) 955
(b) 905
(c) 995
(d) 755



61.

62.

KLFG-U-VBY

5 &0 g 3N 4 @ 72 a1t 9% § F 2 el &
Igfeas ®91 ¥ fwen s 2 | smh w®n
sifesar 2 o6 31 i wh @ 1 i & 2

(a) 5/9
(b) 4/9

(c) - 2/9

(d) 39 U F HI3 T8

M o 3R B, FHH 22— 7x + 11 = 0% HA £,
ar o + p3 1 A S SUeR 2 2

(a) 112
() 77
(c) 49

d) 224

frafafaa § @ S99 ved aes a9 ok 7@
W FHEAITAH FGER A1 e wefdie A 8 2

| (a) 3 FHET SEITFES

®)

(© 7d ESH
@ e

it dacie (I Telt) a1 siwfiE) #
frafafga # & s9-a1 A faemm @ 2,
e v s § swre ok st @
YR A o fore foman wmar @ 2

(a) WHIfeTW BIZFIETES
(b) URRREW BEgEEES
(c) Toferm eEeiwgs
(d) vgEEm aegiese

65.

67.
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62.

(a) Sodium hydroxide

(b) Potassium hydroxide

(¢) Lithium hydroxide

(d) Aluminium hydroxide
KLFG-U-VBY

sublimation behaviour or property at
standard temperature and pressure ?

(a)  Solid carbon dioxide

(b) Water

(c) Liquid nitrogen

(d) Iron

From a pack of 5 green balls and 4 red balls,
2 balls are drawn at random. What is the
probability that both the balls are of the same
colour ?

(a) 59
(b) 4/9
(0 29
(d) None of the above

If « and B are the roots of the equation
x? - 7x + 11 = 0, then the value of o® + B3 is
equal to : :

(a) 112
b 77
(c) 49
d 224

Which one of the following substances shows

Which one of the following compounds is
present in antacid tablets or medicines which
are used to cure indigestion and acidity in the
stomach ?

65.

67.

(17-A)

What is the state of matter in a glowing
fluorescent tube ?

(a) Gas

(b) Liquid

(¢) Plasma

(d) Bose-Einstein Condensate

Kaleshwaram Lift Irrigation Project, often
discussed in media, is built across which one

of the following rivers ?
(a) Cauvery

(b) Godavari |

(¢) Krishna

(d) Penneru

Recently, in which one of the following

countries did the military oust the
Government and seize power ?

(a) Belarus

(b) Costa Rica

(¢) Sudan

(d) Turkmenistan

Recently, the WHO has approved the
widespread use of the World’s first vaccine
against which one of the following
diseases/infeetions ?

(a) Hepatitis C

(b) Nipah Virus

(¢) Malaria

(d) Zika Virus
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70.

71.

72.
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73.
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70.

71.

72.

(a) 1only

(b) 2only

(c) Both1land?2

(d) Neither 1 nor 2
KLFG-U-VBY

The Central Government is planning to make
major interventions in which one of the
following regions of India to make it an oil
palm hub ?

(a) Coromandel Coast

(b) North-Eastern States
(c) Rayalaseema
(d) Saurashtra

Which one among the following countries,
which was in the news recently, has lost more
than 90% of the value of its currency in two
years ?

(a) Algeria
(b) Lebanon
(¢) Morocco
(d) Turkey

Recently, the Supreme Court of India ordered
the laying of underground high-voltage power
lines in Gujarat and Rajasthan to save the :

(a) Great Indian Bustard.
(b)  Great Indian Hornbill.
(c) Spot-Billed Pelican.
(d) Sarus Crane.

Consider the following statements with
respect to Polavaram Project often mentioned
in the news :

1. It is being constructed on river
Godavari.

2. It is meant to supply irrigation water to
parts of Andhra Pradesh, Telangana
and Chhattisgarh.

Which of the statements given above is/are
correct ?

73.

74,

75.

(19-A)

Which one of the following statements with
regard to  historical importance of
Kushinagar, is correct ?

(a) Siddhartha Gautama'’s ‘great departure’
took place here and he became an

ascetic, a Sramana.

(b) Siddhartha Gautama, obtained his
enlightenment here and he became

Buddha.

(¢) Buddha gave his first sermon known as

Dharmachakra-parivartana sutra.

(d) Buddha passed away here, which is

known as Mahaparinirvana.

What is ‘PM Gati Shakti’ often seen in the
news ?

(@) An integrated digital platform for

infrastructure development

(b) A poverty alleviation programme of the

Union Government

(¢) A holistic welfare programme meant for

migrant labour

(d) A master plan to develop the country’s

defence capabilities

The concept ‘fallback liability’, recently in the
news, is in relation to :

(a) the Central Government grants to

States.
(b)  business of e-commerce companies.
()  recapitalisation of public sector banks.
(d) merge:: of small banks with big banks.
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81.
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PART B

Metal detector is meant to detect the presence
of which of the following in the search object ?

(a) Ferrous metal only

(b)  Ferrous and plastic objects only

(¢)  Ferrous and non-ferrous objects only

(d) Ferrous, non-ferrous and plastic objects
The fee received by CISF for Technical
Consultancy Services to industrial
establishments is credited to :

(a) CISF Welfare Fund.

(b)  CISF Consultancy Fund.

(c) Consolidated Fund of India.

(d) Contingency Fund of India.

Which of the following is/are the basic
function(s) of a CCTV system ?

1. To disallow unauthorised peréons to
enter into any building in the premises

2. To allow a person to observe a scene
without being present at the scene

3. To allow an activity to be recorded for
future viewing

Select the correct answer using the code given

below :

(a) 1,2and3
(b) 2only

(¢) 1and 3 only
(d) 2and3only

As per the CISF Act, 1968, which of the
following is not correct as far as the
procedure to be followed after arrest by CISF
is concerned ?

(a) To hand over the arrested person to the
nearest police station

To hand over the arrested person to the
management of the undertaking

To hand over the arrested person to a
police officer

To prepare a report of the circumstances
occasioning the arrest

(b)
(c)

(d)

PROFESSIONAL SKILL
76. Card reader as a means of Access Control is | 82,
becoming popular as compared to a human
guard. In this context, which one of the
following statements is not correct ?
(a) It offers better security as it cannot be
bribed.
(b) It is more economical.
(c) It can never fail. 83
(d) TItis always alert. E
77. Which one of the following is not a function of
Personnel Access Control System ?
(a) To prepare Identity Card
(b) To interrogate
(¢) To take decisions
(d) To respond
84,
78. Which one of the following is not detected by
fire detectors ?
(a) Radiation
(b) Heat
(¢) Light
(d) Smoke
79. Night Vision Devices do not consist of :
(a) Telescope.
(b) Binocular.
(¢) X-rays.
(d) Infrared image converter tube.
80. Which one of the following is not a High
Intensity Explosive ? S
(a) TNT :
(b) RDX .
(¢) Black gunpowder
(d) Plastic explosive
81. Which one of the following breeds of dogs is
' not suitable as sniffer dogs in aviation
security ?
(a) German Shepherd
(b)  Cocker Spaniel
(¢) Labrador
(d) Pomeranian
KLFG-U-VBY (21-A)
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86. Which one of the following is the highest
category Protectee ?
(a) Z category protectee
(b)  Z+ category protectee
(c) SPG protectee
(d) CISF protectee
87. During the outbreak of fire in a unit, which
one of the following should not be done ?
(a) Stop the fire from spreading
(b)  Reach the spot as early as possible with
proper equipment and sufficient
manpower
(¢) Inform the local police and wait till the
police arrives
(d)  Rescue of the persons caught in the fire
88. Random frisking means frisking of :
(a) persons who are well-built.
(b) persons who are drunk.
(c) atleast every fifth person.
(d) few male persons only.
89. In which of the following years were
amendments in the CISF Act brought in ?
(a) 1983, 1989, 1999 and 2011
(b) 1983, 1991, 2001 and 2009
(c) 1983, 1989, 1999 and 2009
(d) 1983, 1989, 2001 and 2011
90. Which one of the following is the full form of
X-BIS ?
(a) X-ray Baggage Inspection System
(b) X-ray Baggage Imaging System
(¢) X-ray Based Imaging System
(d) X-ray Baggage Identifying System
KLFG-U-VBY

91.

(23-A)

CISF is inducted in an undertaking after the
approval of MHA and :

(a) orders of Director General.
(b) recruitment of constables.
(c)

completion of pre-induction formalities
and payment of security deposit.

completion of fresh training of all those

CISF personnel who are going to be
inducted.

(d)

In India, which one of the following forces is
designated to deal with Anti-Hijacking
operations ?

(a) SPG
(b) BSF
(c) NSG
(d) CISF

CISF is normally not deployed for :

(a) election duty.

(b)  counter-insurgency duty.
(c) disaster management duty.
(d)  VIP security duty.

Landslide caused due to civil construction
work in a hilly area is :

(a)
(b)
(c)
(d)

a man-made disaster.
a natural disaster.
None of the above
Both (a) and (b) above

As per the CISF Rules, 2001, which one of the
following is not a Major Penalty ?

(a)
(b)
(c)
(d)

Dismissal from service
Withholding of promotion
Compulsory retirement

Removal from service
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96. Which one of the following areas of the
Airport does not fall under Airside as far as
security of Airport is concerned ?

(a) Tarmac

(b)' Visitors car parking area
(¢) Terminal building

(d) Runway

97. As per the CISF Rules, 2001, which one of the
following is net a follower ?
(a) Fitter
(b) Switch Board Attendant
(¢) Painter
(d) Tailor

98. Which one of the following statements is not
correct ?

(a) The supervision of CISF vests with DG,
CISF.

(b) The administration of CISF vests with
DG, CISF.

(¢) The command of CISF vests with DG,
CISF.,

(d) The superintendence of CISF vests with
DG, CISF.

99. In which of the following States, is an NDRF

Battalion not located ?
(a) Himachal Pradesh
(b) Uttar Pradesh
(¢) Arunachal Pradesh
(d) None of the above
KLFG-U-VBY (25-

100.

101.

102.

A)

Which one of the following is the full form of
NDRF ?

(a)
(b)

National Disaster Reaction Force

National Disaster Responder Force
(¢) National Disaster Response Force
(d) National Disaster Relief Force

Whenever it is necessary to cause a female to
be searched, it is essential that the search
shall be made by :

(a) any police officer.

(b) any police officer in the presence of a
female.

(¢) another female with strict regard to
decency.

(d) only a female police officer.

Under which of the following circumstances
may a search warrant be issued by a court ?

1.  Where such document or thing is not
known to the court to be in the
possession of any person

2.  Where court considers that the purpose
of any inquiry or trial or other
proceedings under the Code of Criminal
Procedure, 1973 will be served by
general search

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

(¢) Both1and?2
(d) Neither 1 nor 2
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103.

104.

(a) 1and2only
(b) 2and3 only
{c) -1, 2and 3
(d) 1and3only

105. Where the property seized under Section 102
of the Code of Criminal Procedure, 1973 is
subject to speedy and natural decay and if the
person entitled to the possession of such
property is unknown or absent, the property
may forthwith be sold by auction under the
orders of the Superintendent of Police, if the
value of such property is :
(a) more than ¥ 500.
(b) less than ¥ 500.
(e) less than ¥ 1,000.
(d) more than ¥ 1,000.
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Under which one of the following situations

. may dispersal of assembly by use of civil force

not be commanded by any Executive
Magistrate or Officer-In-Charge of a police
station ?

(a) For dispersal of an unlawful assembly

(b) Assembly of five or more persons likely
to cause a disturbance of public peace

(c) Assembly of five or more persons likely
to invite more persons to join

(d) The assembly conduct itself in such a

manner as to show a determination not
to disperse

Who amongst the following can issue a
warrant to search the place suspected to
contain stolen property, forged document,
ete. ? )

1 District Magistrate
2. Sub-Divisional Magistrate
3.  Magistrate of the First Class

Select the correct answer using the code given
below :

106.

107.

108.

A)

‘A’ cut down a tree on ‘B’s ground, with the
intention of dishonestly taking the tree out of
‘B’s possession without ‘B’s consent. Which
one of the following statements is correct ?

(a) ‘A’ commits no offence because the tree

is an immovable property.

(b) ‘A’ commits eriminal breach of trust.

(¢) ‘A’ committed theft as soon as he
severed the tree in order to such taking.

(d) ‘A’ committed an attempt to theft.

What is the punishment prescribed for the
offence of theft under Section 379 of the
Indian Penal Code, 1860 ?

(a) Imprisonment of either description for a
term which may extend to five years or

with fine, or with both

Simple imprisonment for a term which
may extend to five years or with fine, or
with both

Simple imprisonment for a term which
may extend to three years or with fine,
or with both

(b)

(c)

(d) Imprisonment of either description for a
term which may extend to three years

or with fine, or with both

‘A’, a Revenue Officer, is entrusted with public
money and is either directed by law, or bound
by a contract, express or implied, with the
Government, to pay into a certain treasury all
the public money which he holds. ‘A’
dishonestly appropriates the money. ‘A’ has
committed the offence of :

(a)
(b)
(c)
(d)

theft of public money.
criminal misappropriation.
criminal breach of trust.
cheating.
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109.

110.

111.

Whoever voluntarily assists in concealing or
disposing of property which he knows to be
stolen, shall :

(a) not be liable for any offence under the

Indian Penal Code, 1860.

be punished with simple imprisonment,
which may extend to three years or with
fine.

be punished with imprisonment of
either description which may extend to
three years or with fine or with both.

(b)

(c)

(d)  be punished with simple imprisonment,
which may extend to five years or with
fine.

‘A’ is having joint property with ‘Z’ in a horse.

‘A’ shoots the horse with the intention to
cause wrongful loss to ‘Z’. ‘A’ has committed
which one of the following offences ?

(a) Breach of trust

(b) Trespass of property

(¢) Mischief

(d) Criminal misappropriation

A person shall be punishable with rigorous
imprisonment for a term which may extend to
ten years, and shall also be liable for a fine, if
the person :

(a) commits theft, having made
preparations for causing death or hurt
to any person in order to committing of
such theft.

(b) causes death of any person while |
committing theft.

(¢) causes grievous hurt to any person
while committing theft. :

(d) causes simple hurt to any person while
committing theft.
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112,

113.

114.

115.

A)

The Universal Declaration of Human Rights
was adopted in :

(a) 1947
(b) 1948
(e) 1949
(d) 1950

The International Bill of Human Rights
consists of the following except the :

(a)  Universal Declaration of Human Rights.

(b) International Covenant on Civil and
Political Rights.

(c) International Covenant on Economic,
Social and Cultural Rights.

(d) International Court of Justice.

In India, for better protection of human
rights, the National Human Rights
Commission, State Human Rights
Commissions and Human Rights Courts are
constituted under :

(a) The Human Rights Act, 1988.

(b) The Protection of Human Rights Act,
1993.

The Protection of Civil Rights Act, 1955.

The International Bill of Human Rights,
1948.

(c)
(d)

The Chairperson of the National Human
Rights Commission is appointed by the :

(a) President of India.

(b) Prime Minister of India.

(c)  Chief Justice of the Supreme Court of
India.

(d) Minister-in-charge of the Ministry of

Home Affairs.



KLFG-U-VBY

116. T¥H AFE AfHR A &l qFa AfHH &

stfasrmor 1 frerdl 6 S w999
o+t wiferat & 2

(a) I =TT H

(b) Faw fafae e i

(c) ad g8 =TT Hl

(@) Tifae = i e =, Et

117. T A PR 0, T 6l & geei

2 AHE AR @ Ifsmne fRr 9 gadh
Rl @ wiar s a5y, Fefafe @ @
- gfshar gETET 2

1. 98 @4 394 T g A1 HIS e
H BF W thg @R & O @i wewhar

21

2. TR wm 81 ¥ wwen, 98 Femd ®
FHRATE F Ghal 8 I GHR B 9
frmfst dig gt 2 |

3. g BN, AMAM & 9 HE & Hia &@
IR g §QIe T HqHY & Hiaw, fawifa
9 h 7 HRaT b a) H giuaa Hm |

A fog T e 1SR H HA IR G -
(a) a1 .

(b) e 137 2

¢ 1,23NR3

(d) wad 23R 3

118.

119.

120.

(30-A)

o § & SR-aVEH-A F97 98 872 2

Hart wiasy ffy i bl sy srfufem,

1952 THTE: U8 Ueeh T (FRfectymie) W

1. gfa ad 50,000 & 2Ffess & A& 3N
Yo HL 9 HET 8 |

2. @ w1 3@ fus =fwea 1 Fafsa
T2 |

= feu 7 g2 w1 W W T W g

(a) ad 1

(b) Had 2

(c) 13?'12%

(@ Far1,782

wiert wigs ffy sfle sifteo & dierd=

Fftreprt i yerEfy et 2 2

(@) 30 @ & o ¥, R ade @ 9w
Y1 YE BV HGT B AYA] 9§ d% a8
62 @ I Y TH T B a1, T A S
ft gzt &

(b 39 aift@ @ gi= o8, m afe + T8
YT 9 UBY HAT & YA S« d 98
65 ¥ 1 Y TH T H G, TH F A
ft vgt &

() 39 arr@ ¥ o= a¥, e i@ =i @'
YT Y2 TRV HAT B HYA! W« d 98
62 a9 it g WH TE R a1, FH F A
off gt @

(d) 39 aff@ @ &9 a9, f5m a9t = a7
YT 92 UEY HAT B HYAT I« d 98
65 a4 I Y T T W oar, FH A A
ot vt @

sienfies faare sifufm, 1947 % sl wonfog
farepra sfedmyor (framor) afufa & wg=i 6
Fo1 gea fFaa afis 77 8nft 2

(a) 9= '

(b) 9

(c) 98

(d) T3



116.

117.

(a) 1only

(b) 1land 2 only

(¢) 1,2and3

(d) 2and 3 only
KLFG-U-VBY

The National Human Rights Commission
shall, while inquiring into the complaints for
violation of human rights, have all powers of :

(a)
(b)
(e)
(d)

a High Court.

a Civil Court only.

a Criminal Court only.

both Civil and Criminal Courts.

While dealing with complaints of violation of
human rights by members of the armed
the National Human Rights
Commission shall adopt which of the following

forces,

procedures ?

1. It may, either on its own motion or on
receipt of a petition, seek a report from
the Central Government.

2.  After the receipt of the report, it may
proceed with complaints and make its
recommendations to that Government.

3.  The Central Government shall inform
the Commission of the action taken on
the recommendation within three
months or within the time extended by
the Commission.

Select the correct answer using the code given
below :

118.

119.

120.

(31—A).

Which of the following statements is/are
correct ?

The Employees’ Provident Funds

Miscellaneous  Provisions Act, 1952

generally applicable to every establishment :

1. which deposits GST of more than
¥ 50,000 per year.

2. employing twenty or more persons.

and
is

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

() Both1and2
(d) Neither 1 nor 2

What is the term of the Presiding Officer of

Employees’ Provident Funds Appellate

Tribunal ?

(a) Five years from the date on which he
enters upon his office or until he attains
the age of 62 years, whichever is earlier

Five years from the date on which he
enters upon his office or until he attains
the age of 65 years, whichever is earlier

(b)

(c) Three years from the date on which he
enters upon his office or until he attains
the age of 62 years, whichever is earlier

(d) Three years from the date on which he

enters upon his office or until he attains
the age of 65 years, whichever is earlier

The total number of members of Grievance
Redressal Committee, established under the
Industrial Disputes Act, 1947 shall not
exceed :

(a)
(b)
(c)
(d)

Five
Seven
Six
Eight
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122,
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121. The provisions in relation to the illegal strikes
and lock-outs are given under :

(a)  Section 22 of the Industrial Disputes
Act, 1947.

(b)  Section 23 of the Industrial Disputes
Act, 1947.

(¢)  Section 24 of the Industrial Disputes
Act, 1947,

(d) Section 29 of the Industrial Disputes
Act, 1947.

122. Which of the following is/are the condition(s)
precedent to valid retrenchment of a workman
under the Industrial Disputes Act, 1947 ?

1. The workman has been given one
month’s notice in writing indicating the
reasons for retrenchment

2. The workman has been paid at the time
of retrenchment compensation which
shall be equivalent to fifteen days’
average wages for every completed year
of continuous service

3. The workman has been paid, at the time
of retrenchment, compensation which
shall be equivalent to wages of thirty
days service

Select the correct answer using the code given

below : :

(a) 1only

(b) 1and 2only

(c) 2only

(d) 1and3only
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123.

124,

125.

(33-A)

When is the employer not liable for payment
of compensation to an employee ?

(a) If personal injury is caused to an
employee during the course of his
employment

(b)  If the employee has contracted a disease

specified as an occupational disease
peculiar to that employment

If the injury resulting in partial
disablement was caused by accident
that happened due to the wilful
disobedience of the employee to an order
expressly given for the purpose of
securing the safety of the employees

(c)

(d) In respect of any injury which resulted
in the partial disablement of the
employee during the course of

employment for more than three days

The Chairperson of the Central Vigilance
Commission is also known as :

(a) Vigilance Commissioner.
(b)  Chief Vigilance Officer.
(¢c)  Central Vigilance Officer.

(d) Central Vigilance Commissioner.

Any fact from which, either by itself or in
connection with other facts, the existence,
non-existence, nature or extent of any right,
liability, or disability, asserted or denied in
any suit or proceeding, necessarily follows is
known as :

(a) Relevant fact.
(b) Irrelevant fact.
(e) Fact in issue.
(d) Fact in law.
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foreft oft feufq o forelt et & v
Ha faw o e w1 I = I ghe F97 W favarg amaia 78 2 g%t 2 |
(a) had 1 @) fafy o 3 maE f sfoma @ sgEa &
91, g @iEft g wen fu U wEw
(b) had 2 (deg) W = feam & |
(c) e 3 130. Tt & g% W ARESH @ % fou g
(d 1,233 I TSI GTHR g Gl -EwES & | YEER

framor sifufem & g 7, 11, 13 3R 15 %
i < gl & fou & @9 W

~ e @M &g EwES g@ 9l % fere
127. Frefafaa § @ 0 wF @es 787 8 ? Wma@agﬁ & ﬁﬁwﬁ,lgss
(a) TEAES S fopet wyEmn d@um Wi & i frfefaa & & fFg gm0 % sredia feean 0

FRF ¥ w7 H a1 FE * AveE % w9 § 22

5 (a) W 19
(b) T 18A
(b) rfrpa fae & geames (c) T 20
(¢) ST TEAE % wis-sheE (02 S
131. ¥uER fane sifufras, 1988 it F=fafiaa 4
(d) AT & HET H AEE ¥ PR U I= AEEE § adE iR
A &% HEY | 394 Hdl 2
: (a) 9T 25
128. Frefafga & @ ®F@ W wRdw wEd Eb)) ﬁg;
: " c
Fifufram, 1872 % sER gafaa 787 2 2 ) 9T 34
“(a) R 101 : §Ed P HR 132. &1 I Hife § 7T A9 It Uiy wEa
9 & fou @5 @1 Iusy, WRd™ g HiE,
(b) WIRT 135 : W& % RN ST I 1860 1 Freifergs # @ frw T # fen
Sl 1 A 29
; (a) T 302
(c) 9T 120 : YegHIcish HAT (b) W 304.
: : (c) T 299
(@) §m 129 : faft el | Mo g @) T 500
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126. When is a confessional statement by an
accused to be proved against him in criminal
proceedings ?

! When it is made to a police officer

2.  When it is made in the immediate
presence of a Magistrate

3. When it is made to a respectable person
of the locality where he resides

Select the correct answer using the code given

below :

(a) 1only

(b) 2 only

(¢c) 3only

(d) 1,2and3

127. Which one of the following is not a public
document ? :

(a) Documents forming the acts, or records
of the acts of the sovereign authority

(b)  Documents of unregistered will

(¢)  Public records of private documents

(d)  Records of acts of tribunals

128. Which one of the following pairs is not
correctly matched as per the Indian Evidence
Act, 1872 ?

(a) Section 101 Burden of Proof

(b)  Section 135 : Order of Production
and Examination of
Witnesses

(e)  Section 120 Dying Declaration

(d) Section 129 : Confidential
Communication with
Legal Advisors

KLFG-U-VBY

129,

130.

131.
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Which one of the following- statements with
respect to number of witnesses is not correct ?

(a) No particular number of witnesses shall
in any case be required for the proof of
any fact.

It is the quality of the evidence and not
the quantity of the evidence which is
required to be judged by the court.

It is held in many judgments that
reliance cannot be based on the solitary
statement of a witness in any situation.
The legal system has laid emphasis on
value provided by each witness, rather
than multiplicity or plurality of witness.

(b)

(c)

(d)

To prosecute a public servant, prior sanction
from the Central or State Govérnment is
necessary. The provision for previous sanction
necessary for prosecution of public servant for
offences punishable under Sections 7, 11, 13
and 15 of the Prevention of Corruption Act is
mentioned under which one of the following
Sections of the Prevention of Corruption Act,
1988 ?

(a) Section 19
(b)  Section 18A
(c) Section 20
(d) Section 22

Which of the following Sections of the
Prevention of Corruption Act, 1988 makes
provision regarding Appeals and Revision to
the High Court ?

(a) Section 25

(b) Section 27

(e) Section 32

(d) Section 34

Punishment for culpable homicide not

amounting to murder is given under which
one of the following Sections of the Indian
Penal Code, 1860 ?

(a) Section 302
(b) Section 304
(c) Section 299
(d) Section 300



133. ‘A’ S UH IEId FEdE H A 8,

134.

135.
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I 3t ae fomet sy @ e & fa

.maﬁtﬁﬁ:ﬁlﬁw%%aﬁmﬁw

%1 7Al 781 seen 3R 3 FhE areft 9| 0 |
THUHL I8 gaH 1 Sifaw T& forn @ 39 9@
o o8 1A SoEE @ U TH, 98 d9 A
areft 919 B i A TR g A | A
3 9@ B ¥ R A @ §=wE % fow s
art see fegr 3 tEr 3ER 99 0 ¥ THT
o 6 5N & fo ofi mgwE § foRan | o
art seed & gfshan |, 98 2 bl Sl a|
‘C’ 1 THUHL G 3T B | W HIAA H, A’ I

. fafafe § o feg sy % fou 3t ssmn

ST Gl & ?

(a) ST 3R IuamEl FE gR g FlE
HET

(b) &1 H HIfe § FE W g S
e 99

(c) &Il

(@ foret oft sy & foe 2t 78

frafafea § @ sRmERA At S
i e 9 (... us.) W oAn
71 a1 2/Ed @ 2

1. woglt Her sfafTam, 1936

2. 3fenfies faare srfafm, 1947

3. WRdM g3 Hfedl, 1860 :

4. wroEmn fufiEm, 1948

= feu T e w1 wE = FE W A
(a) hael 1,2 30 4

(b) Had 2,33 4

(¢) #hadl 130T 4

(d) wHad 2

S ofenfs gam W@ wwad i,
1983 % @R, fr=fafea # @ a1 3w @&
w9 | gafea 727 2 2 .

(a) a8 e me : Ah

(b) TET Fan Afuwi : FHiEE

(c) WO FE ME :ar{%aa

(d) e i . TR FAiSe
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136.%3?@%'@(&1@{3&%@%%.

137.

138.

139.

18(1) % 37t fafafée fordft smuy 6 sfg =n
formmor & wEieE & foau sASe Tgar ausE
& & v sl feadh gl w1 s
FHOT ?

(a) v i wafoege

b) T =t wfemge

(c) HIH =grTEis

(d) AR AIA =i

FiE Sireifis g s@ (4. 06.0%. )

fgfs & fou umar A wal & @™

fraferfiaa & @ s w8 737 2 2

(a) oAfth WG &1 AW &M

by = e gen (fafaa feha) o
wfSerer wre &

(¢) =afer 3r=s A afa =1 8m

@ =afe W@ =afeal & gan % 8, W@
quIEH W HeE ot g s |
fgfts 3g o= B % form %= @R g
oifya ferg wmd

frafafes # @ SR R @l f9s w
HAftlifa 1 I At @y i & o=
wfte 787 8 2

L
H

(a) 9T

(b) YErfd &1 Ul TIHT

(¢) e Fanfagfa
(d) o g it aget

Iz WA 5 F Fi gwmEfie st (Fe),
gam wiivs grn wem i mE wnfea # s\
YR T &Y Ghal & o 98 fag e
¥ foru srafus & o1 o 8, Fafafea 4 @
frg AHS H, 9RA % I=GH AT G S5
e hi s oft 2

(a) UEdE foer s9m vra 99

(b) @R 3EAE FAH I JeW T

(c) TUHA. U5 FHR FM WG T4

(d) Wa g9 s= off 9T e

A)



133.

134.

135.

(a) Senior Security Guard : Naik
(b) Chief Security Officer Commandant
(c) Head Security Guard Constable
(d) Security Officer Assistant
Commandant
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‘A’, the Captain of a steam vessel, suddenly
and without any fault or negligence on his
part, finds himself in such a position that,
before he can stop his vessel, he must
inevitably run down a boat ‘B’, with thirty
passengers on board, unless he changes the
course of his vessel and faces the risk to run
down boat ‘C’, with two passengers on board.
‘A’ altered his course to save passengers in
boat ‘B’ without any intention to run down the
boat ‘C’ and in good faith. In the process of
altering his course, he runs down boat ‘C’
with 2 passengers. In this case, ‘A’ can be
held guilty of which one of the offences given
below ?

(a) Causing death by rash and negligent act

(b)  Culpable homicide not amounting to |
murder

(c) Murder

(d) Not guilty of any offence

Which of the following Acts is/are not
applicable to Central Industrial Security
Force (CISF) ?

1.  The Payment of Wages Act, 1936

2. The Industrial Disputes Act, 1947

3.  The Indian Penal Code, 1860

4, The Factories Act, 1948

Select the correct answer using the code given
below :

(a) 1,2 and 4 only
(b) 2,3 and 4 only
(¢) 1and 4 only
(d 2only ;

Which one of the following pairs is not
correctly matched, as per the Central
Industrial Security Force Amendment Act,
1983 ?

136.

137.

138.

139,

A)

For the purpose of inquiring into any offences
or trying offences specified under Section
18(1) of the Central Industrial Security Force
Act, every officer holding the rank of
Commandant or equivalent, shall exercise the
powers of a :

(a) Magistrate of the First Class.
(b) Magistrate of the Second Class.
(¢) Sessions Judge.

(d) Additional Sessions Judge.

Which one of the following is not correct with
respect to the conditions of eligibility for
appointment to the CISF ?

(a) The person shall be a citizen of India

(b) The person shall have training in civil
defence

(¢) The person shall bear a good moral
character 5

(d) The person shall belong to such

categories of persons as may, from time
to time be declared by the Central
Government as being eligible for
appointment to the CISF

Which one of the following is not covered

under minor penalties imposed on a
Government servant ?

(a) Censure

(b)  Withholding of promotion

(e) Compulsory retirement

(d) Recovery of pecuniary loss

The question whether the Central

Administrative Tribunal could interfere with
penalty awarded by the competent authority
on the ground that it is excessive or
disproportionate to the misconduct proved,
was examined by the Supreme Court of India
in which one of the following cases ?

(a) Excel Wear vs. Union of India

(b)  Sagir Ahmad vs. State of Uttar Pradesh
(¢) L.Chandra Kumar vs. Union of India
(d)

Union of India vs. Shri Parma Nanda



140.

141.

142,

143.

144.

145.
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frafafea & @ 58 i hafie guan o
(et wa.w%. ) 6 wa g A # wie

(¢) 3= wA-fre ghfeaa s@ % fom
i weff gu st (seiwe sifem)
% fou mnfegel (Hefor) sfit g famfor
(Fm fafeen)

(d) waa Feames geare

ffafga & & 9 appie soage
ufiwy 2, fomer w@m 1-bit () =1 =
weiita w1 % for foeen wman 2 2

(a) e

(b) Toerg-weAty

(c) A

(d) TR

1 KB foFas aages 2 2
(a) 1042 bytes
(b) 1023 bytes
(c) 1021 bytes
(d) 1024 bytes

% Byte (313¢) # fohad bits (forem) @M
foreram & 2

& 2

b) 4

(c) -8

d 16

NOT gate (T 31t & W2) # foraft gAqe @A
foamma & 2

a) . 2
b 1
(e) 3
d 4

f& &R (Debugger) F1 & ?

(a) GFAA

(b) BTEAR

(c) GiFeaaT 3 FTEAT 1 GIISH
d) 3IFE H § w1 TE

146.

147.

148,

149.

150.

(38-A)

1001 991 101 % #fi" arel wedwwm (fgemurd
SaEHe) BT RO w4 8 2

(a) 1011

(b) 1001

(¢) 001

(d 100

fafafga 4 @ sh@ e 90 =@
(vifos fa ofauemr) i \H @S H
fawfoa @ 6w qols 2 2

(a) fawea (Fmiesm)

(b) gBa (afs)

(c) favrem (Fmieem)

(d) 3TEen-sge (wafa)

frfafea & @ #F-a1 T 389w wie 787 8 2
(a) .90,

(b) ft.37E.Us.

(c) WA

(d) wEtSh.

180G, 3./ 3.4. 27001 HES fhEe faw
22

(a) oA G yauq

(b) T[T YEEH

(¢) Sftay yau=

(d) AT geu

Pt ot deas W glea "@ER % fog
fafafigas 4 a fea @ =1 w@m fmn
AT R ?

(a) TEAAGRTE.

(b) =AM

(c) @.é’r.‘ﬁ.

(@ .ot



140.

141.

(a) Register
(b) Flip-flop
(¢) Counter
) Accumulator
142. 1 KB is equivalent to :
(a) 1042 bytes.
(b) 1023 bytes.
(c) 1021 bytes.
(d) 1024 bytes.
143. How many bits combination is present in a
Byte ?
(a) 2
(b) 4
c) 8
(d 16
144. How many input lines are there in the
NOT gate ?
(a) 2
(b)) 1
() 3
d 4
145. Debuggerisa:
(a) Software.
(b) Hardware.
(c) Combination of software and hardware.
(d) None of the above
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Which one of the following is not included in
the Human Resource Policy of CISF ?

(a) Harmonious cadre management

(b) Departmental disciplinary actions

(¢) Mentoring and team building for direct
officers to ensure optimal performance

(d) Continuous performance appraisal

Which one of the following is a sequential
electronic circuit that is used to store 1-bit
information ?

146.

147.

148.

149.

150.

A)

The result of binary subtraction between
1001 and 101 is :

(a) 1011
(b) 1001
() 001
(d) 100

Which one of the following is a technique of
dividing the physical memory space into
multiple blocks ?

(a) Fragmentation
(b) Paging

(¢) Segmentation
(d) Swapping

Which one of the following is not a raster
image format ?

(a) JPEG
(b) GIF
(¢0 PNG
(d 8SVG

The ISO/IEC 27001 Standard is for :

(a) Information Security Management.
(b) Quality Management.

(¢) Risk Management.

(d) Environmental Management.

Which one of the following protocols is used
for secure communication over a computer
network ?

(a) HTTPS
(b) HTTP
() S i b
(d) DHCP
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